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General Instructions :

1. The question paper consists of four sections : A, B, C and D.
J Section A consists of 6 questions of 1 mark each.
J Section B consists of 6 questions of 2 marks each.
J Section C consists of 10 questions of 3 marks each.
J Section D consists of 8 questions of 4 marks each.

2. All the answers must be correctly numbered as in the question paper and
written in the answer sheet provided to you.

3. All questions are compulsory. However, internal choices have been given in
some questions.

4. In questions of construction, the drawing should be neat and exactly as per
the given measurements. Use ruler and compass only.

= R

1. 39 Y91-T & ¥R ©€ 23, 9, ¥ 3R <

e T AU R T T yAF HT 1 AF 2

e WETIH6UH T o T YIS & 2 3HF B

e WeEHI0 WA T T ¥ 7% & 3 3 2

e WeTH YW T @ Yk oh 4 FF &

F9A I TATET IRT T ¥ T8l U 1 Al U7 99 o 3TER T fad|

Tt g9 erferd € qunfy e geAl o srafe faeey i@ ™ €

T % YAl W, T W J W BT AfeT, S f &2 T At o orEy Bl hadt Tum
Tl TR T TR L

VIll-Mathematics (1)



Section-A (T3-37)

Question numbers 1 to 6 carry 1 mark each.

T G 1 9 6 9% TIE YT HT 1 AF T

1.

Express 16 as sum of odd numbers.
16 =1 fowm ¥emsti o 4 o &9 H fad|
OR (3¥an)
Find the square root of the sum of the cubes of first three natural numbers.

TEell i UTehfaeh F@NsT o Wl oh AR W1 A A hiTWq|

If 3* = 81, find the value of 2%
g 3% = 81 €, @ 2° &1 WM WA eIty

The population of a small village is 1000. If annual birth rate is 10% and annual
death rate is 3%, find the population after one year.

TH B W T H1 SHEEn 1000 B AR @i S W 10% © SR e gog W 3%
2 @ TR o9 9w SHEEN F@ HifSw

OR (31¥ar)
For an article whose selling price is ¥ 4,200, a customer paid T 5,376 including
GST. Find the rate of GST charged on the article.
T o9 e fawa gea 34,200 €, Tw UES 4 GST Gfed T 5,376 JEE fEu
g W Mg T GST &1 W I I

Which alphabet in the word “POSITIVE” has rotational symmetry of order 2 ?
= “POSITIVE” o fg *1eR %1 ¥oi4 wufufd w2 27

PM 1 X-axis, where P is a point whose coordinates are (3, 4). Write the
coordinates of point M.

PM | X-axis W @ 2, Sel P w# fag @ foger fdens (3, 4) €1 fag M & fadenss
fafam)
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6. Find the measure of 4’ in the given figure.

& T eRfd W % T WM W i

Section-B (@e-9)

Question numbers 7 to 12 carry 2 marks each.

U @ 7 9 12 9% Ye U ok 2 3% =l

7. Evaluate : %/61 + 9925 + %

WA WA R %/61+3\/25+§/§

8. Solve for x : ——-—4=—

_8x

5
‘x’aﬁmwﬁngx—ll 5

9. In the given figure, line m is parallel to line n and /1 = 2 /2. Find the measure

of /1 and Z2.
@ M SMeRfa W, W m W n % FAAKR ® AR L1 =2 £2 % L1 R L2 9H
RIGREAISLE p

4 /.
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10.

11.

12.

In the quadrilateral ABCD, DA 1 AB and CB L AB. Prove that ZC + ZD = 180°.

=g ABCD #, DA 1L AB iR CB L AB ?I fag #ifst & ~C + #D = 180° 2|
D

C

A B

Plot the points A (3, 4) and B (5, 2) on a graph. Write coordinates of one point
other than A and B which lies on line AB.

fag A(3,4) 3R B (5,2) = TH M@ W WU A IR B & afaied @ fag
o facyme fafgw s f& T AB W fe@ @)

Alternative question for visually challenged students in lieu of Q. 10

Find length of each side of a square whose area is 441 cm?.

Y W@ 10 % R W gfeafya fomMat & fag dwfeuw wwe
S o H e Ol I oS T ISy e emher 441 o WA ®

Is the following solid a polyhedron ? If yes, then write the number of faces,
vertices and edges.

1 G T S SR Uk gl 82 AR B, Al IHoR Thotehl, IOl SR fHARS
%l HeA [ i)

A piggy bank contains number of coins of ¥ 2, ¥ 5 and T 10 as given below :

3 2 % 5 3 10

20 14 16
If a coin is taken out at random, then find the probability that the coin is of
i) 5 (i) ¥ 10
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T oo H 7 aifae & ogER 22,35 R T 10 & Fw fader T

3 2 X5 3 10
20 14 16
afc ek fager ag=sa fwen SUoa@r S9el wiiedr d| vt fF ag faes-
i) T5F (i) T 10 &1 =/
OR (3yan)

A box contains 90 discs which are numbered from 1 to 90. If one disc is drawn
at random, find the probability that it bears :

(i) a perfect square number (ii) a number divisible by 5

T fesd § 19 90 dF 1 oA HEA arelt 90 Wehfadl B1 AR W wehdl Agesdl ehTel
S 2, 9 uifHekal 9 wIT TR weRdt W foe G-

(i) uw gl el wWem @ (i) wh 59 faws gem @

Section-C (@s-9)

Question numbers 13 to 22 carry 3 marks each.

YT @A 13 W 22 d% U YT o 3 3F R

13.

14.

If Ja x /b =.axb, find /3675 x /2352
IR Ja xVb=Jaxb T, A 3675 x /2352 F HA @ Hifww

1
PO
Simplify : & wifw ;| 9] 643 + 1253

OR (31¥an)

2V (3 81 .,
If (gj (5) R L then find the value of ‘x’.

X 2x
2\ (3 81 N
wﬁigj bj T 2, @ % 1 A T iU
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15. A 250 m long train is moving at a constant speed of 72 km/hr. How much time
will it take to cross a bridge 150 m long ?

wH 250 W, ol Yermel, 72 TR ufe s @t fer wfd ® W@ W@ w150 W
& A & IR HH B Ig fhaw I oi?

OR (31¥an)

In a model of a ship, the mast is 9 cm high, while the mast of actual ship is
12 m high. If the length of the actual ship is 28 m long, how long is the model
ship ?

T BN % Hed § AWd 9 WH. € Wafw odfos e ki AW 12 #H 9 2
Ife ardfdeh SEN %1 e 28 W @ I SES o Hied %1 o N ©?

16. A shopkeeper offers a discount of 20% on all the articles at his shop and still
makes a profit of 12%. What is the cost price of an article whose marked price

is ¥ 280 ?

T& THMER A ThM & G4 axgell W 20% 1 B 31 oF =A@ ft 12% H1 @19
FOE 21 ST 9% H1 hd Hod N e g siferd wed T 280 ®?

17. The present cost of a car is T 3,82,725. If its value has depreciated at the rate
of 10% per annum, what was its cost 3 years ago ? Also, find the total
depreciation.

Tk HR H 96400 T T 3,82,725 Tl R &1 3 98 Yd GeF 1 o, AR TR A
10% 9fa od &1 R ¥ &7 B2 oA wH @ F@ HifeQ)

18. Factorise using suitable algebraic identity :

a? +lb2 +lc2 + ab —lbc —gca
4 9 3 3

Sfad qagtHeT &1 AR HT UGS RS-

a? +lb2 +lc2 + ab —lbc —gca
4 9 3
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19.

20.

21.

Using long division method, show that (3x + 2) is a factor of the polynomial
(11x + 20x* + 12x° + 2).

qhet fafy gR1 <eiEY fR (3x + 2), gUE (1lx + 20x2 + 12x° + 2) &1 0 R

OR (319arn)
Simplify by method of factorization.
z2 -8z +15
22— 25

THEe fafy gh W &S .

22—82+15
22 _ 95

In the given figure, PQ is a transversal intersecting lines AB and CD. Find the
measures of angles x and y. Hence, prove that AB || CD.

& T emepfa H, PQ, AB 3R CD %1 Witesss fadew @ 21 x 3R y @i o AW
Id Hifew ofa: g wifee f8 AB Il CD |

In the parallelogram PQRS of the given figure, the bisectors of /P and £ZQ
meet SR at O. Show that ZPOQ = 90°.

@ T emepfa o wd wgds PQRS ®, /P @R £Q o wufgwsie SR &1 O W firer
g wizw f& ZPOQ = 90°! S 0 R
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22.

OR (31¥an)
In a rectangle ABCD, BM 1L AC and DN 1 AC. Prove that :
(i) AABM = ACDN (ii) BM = DN
% d ABCD %, BM L AC 3R DN L AC ¥ fag #ifse-
(i) AABM = ACDN (ii) BM = DN

The area of the base of a right circular cylinder is 154 cm? and its height is

8 cm. Find the curved surface area of the cylinder. Use ©t = 22

T g e S SR @ aeee 154 o G ¥ ek sewt s 8 4. ¥ S

HT TG YOI GARA A HITeC {n:%?ﬁﬁ—ﬂz_

Section-D (@e-])

Question numbers 23 to 30 carry 4 marks each.

Y99 @A 23 W 30 d% UIF YA oh 4 3F R

23.

24.

The cost of levelling a square lawn at the rate of ¥ 2.50 per m? is ¥ 13322.50.
Find the cost of fencing it at the rate of ¥ 5 per metre.

Tk MR HEM okl 99 i 1 @9 T 2.50 9fq =i #. #1 W 9 T 13322.50 I
TH o O AR T 5 Wl W H W W Ag oM HI AN T Iy

The difference between the compound interest and the simple interest on a
certain sum of money at 15% per annum for three years is ¥ 1134. Find the

sum.
fret I W @9 o & fau 15% offe 9 Tehdfg = iR ARe oI B @
3 1134 21 Tfer @ wifEu
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25. Simplify using suitable algebraic identity :

(2a + 3b)? + 2 (2a + 3b) (2a — 3b) + (2a — 3b)?

sfad wdufiet g0 Wa wifsw

(2a + 3b)? + 2 (2a + 3b) (2a — 3b) + (2a — 3b)?

OR (31%ra)
1 17 2 1
If x+—=—, find the value of ¥ — —5.
X 4 X
1 17 1
ErFr;x+;=Z %,ﬁxz—jwmmﬁml
X

26. The sum of a two digit number and the number obtained by reversing the order
of the digits is 165. If the digits differ by 3, find the number, when ten’s digit
is bigger than the unit’s digit.

Th < 3Rl Al W@ 3R 3Rl oh hH Wi weed W WAl WEA %1 A 165 g1 AR
hl H 3 H FW T, A GO [ BT Selh @R H 3k THE oh Ak G =l B

27. Construct a quadrilateral ABCD in which AB =5 cm, BC = 6 cm, CD = 8 cm,
ZB = 120° and £C = 90°.

T 9q9s ABCD &1 W= &ifsg f5ad AB = 5 9.7, BC = 6 9.4., CD = 8 5.9,
/B =120° 3R £C = 90° 2

Alternative question for visually challenged students in lieu of Q. 27
By selling a watch for ¥ 1140, a man loses 5%. What should be the selling price

of the watch if he wants to gain 5% on it ?

Y WEA 27 % WM W gfedfyq faenife & fag defews wwA
Th A H Th TS & T 1140 W s=H W 5% 1 T et 21 TSt 1 faea ged
B AET AR o® 5% w1 Wi W@dl ©?
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28. AABC and ABDC are two isosceles triangles on the same base BC. If ZABC =
60° and ZBCD = 75°, find all angles of quadrilateral ABDC.
AABC 3R ABDC 34 T & emeR BC W ot 1 wdfgarg B 81 Rk ZABC =

60° 3R /BCD = 75° &, a1 wgys ABDC o @t «ivi o AF A Hifer)
A

60°
A C

B
75°

D
29. A swimming pool is 20 m in length, 15 m in breadth and 4 m in depth. Find

the cost of cementing its walls and floor at the rate of ¥ 5 per m?. Also, find

the water required to fill the swimming pool completely.

T WO 20 H. e, 15 W, drer R 4 W Teq ®1 @R O’ qen %9 %l 5
gfd =i . w1 W ¥ HWHE FE H ANC J@ KISC QO R H T W G H
T o fau smeavEes Ul st HEm +ft [ shifeq

OR (31ydn)

The parallel sides of a trapezium are 40 cm and 20 cm. If its non-parallel sides

are both equal, each being 26 cm, find the area of the trapezium.

T HU@a =qe w1 GHR Sensti i @Al 40 AL 3R 20 T T AR sHE TOE
SEAH YT i ofelE 26 WHL. €, d THcld 1 &hol A HITey

VIll-Mathematics (10)



30. The number of hours for which the television is watched in a day by the
students of a class during holidays is shown in the following histogram. Observe

it and answer the questions given below :

Tk Kl o Taenfel g STaehTel o QM Uidfed Sefifas <@H o Sl &l fre ed
foo g <wE T @1 s dEe T w1 SwWdifu—

y-axis

4
a9 L 32

28 +
24 T 29

BET Rl T —

Number of students —

0 » X-axis
1 2 3 4 5 6 7

yfafed TV 3@+ o " —
Hours of TV watched per day —

(i) For how many hours the minimum number of students watch Television ?
(i1)) For how many hours the maximum number of students watch Television ?
(iii) How many students watch Television for less than 4 hours ?

(iv) How many students watch Television for more than 5 hours ?

() a9 wy foneffl frad = Iefifosm SE@d 22

(i) wod g fomnel fray =2 Jefifaem d@d €72

(iii) 4 = 9 w7 Iefifosd @y o TRy fommeff €7

(iv) 5= 9§ SRl JefifasH 2@q o fora femmeff 22

OR (372r@n)
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Information about the preferred sports of 100 students was obtained and is

given below :

Sports Cricket Hockey | Kabbadi | Basketball

No. of students 40 30 20 10

Draw a pie chart for the above data.
100 B o WHT o Well ® SHHN LR W R = f W
o fopene Bt ELEC) ke

N

SEI ® HE&A 40 30 20 10

ST el oh fau gafas aFEu

Alternative question for visually challenged students

in lieu of Q. 30

Two numbers are in the ratio 3 : 4, when 8 is subtracted from each, the ratio

becomes 2 : 3. Find the numbers.

Y WET 30 % WA R gfedfyd faeifa & fag defeus wwA
Y EEAd 3:4% UK W B, 9@ <A A W 8 I @l ¥, al | 2 : 3 8 S
2 HEd F| i

00oa
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